CRG 2010 PARTS LIST

90
14 15
[ ——— S —
4 4 &
16 17
\, 18
ES COD ITEMS ITEMS BLA MRS
1 AFN.00016* M 6 x 14 Convex Head Screw
2 SC0.00789 3Y"14—4K"-pAT7— LONG RADIATOR CRG Support Long ¥6,510
3 SC0.00788 Y 14-4K'—pFAF— SHORT RADIATOR CRG Support Short ¥6,510
4 AFS.00760 RADIATOR Silentblock
5 SL1.01589 SPACER 6 -20x 3,5
6 AFN.00584* M 8 x100 Conical Head Screw
7  FBN.00064 FYINAA'—H— 85%x18x%4 STUB AXLE SPACER 8,5-18x 4 ¥420
8 AFN.00159* M 8 x 45 Conical Head Screw
9 AFN.00129* WASHER 8,5-17x1,5
10 AFN.00128* NUT M 8 High Self-Locking
11 AFS.00756 GV L8-%497° RADIATOR Cap ¥2,730
12 AFS.00785 3Y°I4— Only/¥vy7°ft RADIATOR CRG w/cap ¥60,900
13 FKO0.00787 39 14-2F— KIT CONNECTION Kit CRG Rad.CO ¥16,800
14 FMO0.00785 5Y°14— Comp/AT—{ RADIATOR CRG COMPL.w/conn. ¥76,650
15 FKO0.01320 3Y'I8—h—-TY Comp RADIATOR Curtain CRG Comp. ¥27,300
$70.01323 V' 19—h-7v ERfFE Wb RADIATOR Curtain Ext.Screw ¥336
SAN.01321 39 T8=h—7v 17’ RADIATOR Tent Rod Pommel ¥1,785
SAN.01322 V' 18-h—-7v myk BLK RADIATOR Tent Rod BLACK ¥4,935
AML.00987 39 T4— h—Fub—I RADIATOR Curtain Plate (pairs) ¥6,615
AFS.01329 FY°189-h—FY 7'v¥a RADIATOR Curtain Bushing ¥998
16 SCO0.01599 RADIATOR DD2 Support Top
17 SC0.01700 RADIATOR DD2 Support Bottom
18 FBN.01687 FUEL Pump DD2 Support

BmOMAR - ERIEFEECEET BHEHHVET



CRG 2010 PARTS LIST

91
: . C D .
5 €
1
-
~i
|-
& =7 loooo \
% s O
h—— ——
ES COD DESCRIZIONE ITEMS BHAMRE
1 FKO0.01818 COOLING KIT CRG STANDARD
FMO0.00785 Radiatore CRG Completo>CRG Radiator Complete
FM0.00762 Pompa acqua>>>Water Pump
FL1.01622 Puleggia>>>Pulley
AFS.01640 CinghioloPompaAcqua<06>Driving Belt
AFS.00761 Curve tubo acqua>>>Water Pipe
FMO0.01991 CRG A8y °18— Comp PENTAGONAL Radiator CRG Co ¥126,000
AML.01961 RADIATOR PROTECTION PLATE

RO - BRI FEEEET 58D HIET 2



